O—R-RX—ILE
EB (A &) E = K %
[1R&Era ) (=381
37,000 110
A AN —}Ty7
R | B
e ISR A | BEE D 5,500
Km 2 Axg  TE _ _|emen 300 |
TR D ! !
Y A mL TOH mf €2t FH|
e 50,000 ;| A& 50,000 Fq]
IR
PFT{it =Rl ES 48
3 R N Sl
RSUE BEH <riay BERY T IL—L
[ BERE 55 oRE Z=R 1995448
FAmE 22.50m
- A= eTRE B fag% (1 AR~ T E)
—  _#® ]
o 1L —Ea BERE] X Jnohi] KE  LA=EKEl
2o AL K% | dal = AU | e AEAY
TVESRToTF
L1 BRSUA Ll I7aE
10085 E~1058F
2008 FE ~205BF
. 3005 E~3057/=F . H‘
mASUH Al e )
106%§~110%§ )\EEE’EU'EW%ETEAM\%
2068 E~2108=
3068 E~3108=
XEEER AN ELDIGEILEREBLELYET,
- *E%% —t 53
A B8 PV [T 52 o 0773233434 we A T
F= — ; A F S0 RE+EIEH 4 HEF
TREHES | HHMFAEE)E106985 way 3434@f-aj.com (IDIRR) ZATRISH AR
T620-0045 R BAILTERBTEI203E M | https;//f-aj,com/ @vja8210a memo




